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PHYSICAL EDUCATION
Paper III
Time Allowed : 2% Hours] (Maximum Marks : 150

Note :— This question paper contains Seventy five (75) multiple choice questions,

each question carries fwo (2) marks. Attempt all questions.

1. Who among the following is founder of the theory recapitualation ?
(A) G. Stanley Hall (B) Charles Darwin
(C) Herbert Spencer (D) Lamarck

2. Which of—' the following is a key factor in man’s socialization process ?
(A) Social understanding (B) Social Courtesies

(C) Social interaction among people(D) Temples

3. What point scale did Sheldon used to classify individuals in his somato-typing

system ?
(A) 15 (B) 1-7
(C) 19 (D) None of these
4. The phenomenon of reciprocal innervation are associated with the working
of the :
(A) Nerves (B) Spinal cord
(C) Viscera (D) Muscles
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5. While Plato regarded physical activity as a powerful means of bringing moral

perfection in the youth, Aristotle put greater stress on :
(A) Athleticism (B) Mental soundness
(C) Intellectualism (D) Social perfection

6. What percentage of blood is received by the skeletal muscle during strenous

exercise 7
(A) 80-85% (B) 85-90%
(C) 90-95% (D) 95-100%

7. The feel good chemicals “Endomorphins, commonly known as runners high

that are released in the brain, act as natural opium which helps in :
(A) Increase muscle potential (B) Improve vital capacity
(C) Aid cardiac output (D) Enhance pain-tolerance

8. All sensory impulses are received from the sensory organs first at the level

of :
(A) Sympathetic system (B) Spinal cord
(C) Brain stem (D) Hypothalamus
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9, Drugs which produce alertness, wakefulness and an increased ability to

concentrate :
(A) Stimulants (B) Beta blockers
(C) Cocaine (D) None of these

10. Name the type of muscles which contract when the body is in motion :
(A) Neutralizers (B) Antagonists
(C) Stabilizers (D) Agonists
11. If you apély a force through the centre of gravity, the object will :
(A) move in a straight line (B) make an upward curve
(C) turn and twist badly (D) spin on its own axis
12. Lordosis is characterized by an abnormality of :
(A) neck and lower back (B) shoulders and back

(C) curve of the spine (D) bony cage of the chest
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13. A single nerve impulse produces :
(A) only one single contraction (B) a weak contraction
(C) no contraction (D) repeated contraction

14.  Acceleration in walking or running is directly related to the force causing

acceleration but inversely related to body :
(A) weight (B) height
(C) mass (D) density

15. When centrifugal and centripetal forces balance, the object, for example a

discus or a hammer ?
(A) remain in rotation (B) slows down considerably
(C) does not move at all (D) moves fast

18. If a consequence increases the frequency of a behaviour, it is called

a/an :
(A) Punisher (B) generalizer
(C) operant (D) reinforcer
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17.

18.

19.

20.

The abbreviation nAch developed by McClelland in his theory of human

behaviour stands for :
(A) drive to achieve (B) need for action
(C) motivated action (D) intense drive

Which of the following nervous systems plays a crucial role in anxiety and

arousal the two potential influencers of performance in sports ?

(A) sympathetic (B) limbic

(C) parasympathetic (D) automatic

A person’s perception of his/her own personality traits is reflected in his :
(A) self esteem (B) self efficacy

(C) self regard (D) self concept

Research demonstrates that sports persons benefit from the presence of an

audience on other athletes supports the concept of :
(A) social loafing (B) social facilitation

(C) social interaction (D) social dependence
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21.

22.

24.

Disciplinary codes allow the profession to :

(A) draw a standard of conduct

(B) prescribe correct procedures for practice

(C) create a sense of belonging'among professional

(D) keep a check on unprofessional activities

The most astounding characteristic of curriculum is its :
(A) inclusiveness (B) dynamisms
(C) open-endedness (D) directness
Games of -low organization virtually retters to :

(A) lead up games (B) minor games

(C) social games (D) small area games

. |
»

At which of the following growth stages, vast improvements seen M. Children’s

endurance, coordination attention span, reaction and maided thinking ?
(A) Preschool years (B) Early childhood

(C) Later childhood (D) Puberty
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25, Man’s health is directly and, of course, significantly related to man's :

(A) aptitutes (B) attitudes

(C) routines (D) life-style

26. Normally human body requires carbohydrates, proteins and fats in the

proportion of :
[A) @32t 1 B) 3:2:1
©) By 2x 1 (D) 4 :121

27. Excess or subnominal amount of potassium in the body causes mal-

functioning of the :
(A) liver (B) heart
(C) brain (D) kidneys

28. Which of the following comp’one'nts is not considered an element of health

related fitness ?
(A) Reaction time (B) Body composition
(C) Cardiovascular endurance (D) Muscular strength
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30.

31.

32.

The damage to human health due to noise depends upon noises :

(A) direction (B) transit

(C) intensity (D) type

Which of the following diseases does the housefly not potentially cause ?
(A) Hydrophobia (B) Trachoma

(C) Dysentery (D) Typhoid

Rabies is an active highly fatal infection of the :

(A) Cerebrum (B) Spinal cord

(C) Autonomic¢ nervous system (D) Central nervous system

The time interval between the entry of disease agent in the body and

manifestation of clinical symptoms is called :
(A) Incubation period (B) Convalescence

(C) Resting period (D) Disease cycle
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33.

34.

36.

In continuous method of training while the intensity of workout is kept

comparatively low. The duration is kept :
(A) the same (B) higher
(C) longer (D) wvariable

At what percent does the intensity of training loads for speed development

commence and gradually move to 100% ?
(A) 60% maximum (B) 70% maximum
(C) 80% maximum (D) 75% maximum

According to rules, the temperature of water in the swimming pool should

be around : .
(A) 26°C (B) 27°C
(C) 28°C (D) 29°C

Glycogen loading is found ver:y advantageous in an activity which

predominantly involves :
(A) speed (B) endurance

(C) strength (D) explosive power

T.B.C.: 16/15/ET—II1I 18
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37.  Which of the following technqiues is not a psycho-reguiation technique ?
(A) Biofeedback (B) Autogenic training
(C) Thought stopping (D) Motor skill training
38.  Which of the following is the hallmark of laboratory research ?
(A) replicability (B) Reliability
(C) rigorous experimentation (D) long-term observation

39.  Data collected through observation is only valid when it is collected by using

a high degreg of :
(A) Authenticity (B) Objectivity
(C) Reliability (D) Exactness
40. Clinical interview is used as a research techniques mostly by :
(A) Educationists (B) I;:Iedia persons

(C) Sports medicine doctors (D) Psychologists

TB.C.: 16/15/ET—III 20
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41.

42,

43.

Which among the following symbelizes the continuity between the ancient

and modern Olympic games ?
(A) Olympic flag (B) Olympic flame
(C) Olympic souvenir (D) Olympic mascot

The point where actin filaments from adjacent sarcomeres interweave is a

line called :
(A) X line (B) Y line
(C) Z line (D) H line

When was Maulana Abul Kalam Azad Trophy instituted ?
(A) 1952-53 (B) 1956-57

(C) 1960-61 (D)} 1968-69

Which valve is also known as Mitr;] valve ?

(A) Bicuspid (B) Tricuspid

(C) Unicuspid (D) Quadracuspid

T.B.C. : 16/15/ET—III 22



41. TrafafEa 4 4 919 w7 hafivs @ %1 e @t wis & 2
(A) e & (B) #Awifiygsd ware
(C) et s fag (D) et e

12. =% fag =l @ e fremie avd W @ SEii @ alea E oo Ya 5w

T
(A) X @ (B) Y T
(C) Z T@m (D) H T

43. O g FAW ARG TH wE N ge g 4 2
(A) 1952-53 (B) 1956-57
(C) 1960-61 (D) 1968-69
44. wE T09 foza e weant & 2
(A) =EHRETE | (B) Zrwfess

(C) gimfegg ' (D) FEEEiEES

TB.C.: 1615/ET—III 23 . PO,



45. Which award is not a sports award ?

(A) Arjuna (B) Rajiv Gandhi

(C) Dhyan Chand (D) Dronacharya

46. During anaerobic reactions of glycolysis, how many molecules of ATP is

produced per molecule of glucose ?

(A) 10 (B) 5

c) 3 (D) 2

47. Which technique was invented by William Sheldon ?

(A) Somatotyping (B) Pragmatism

(C) Trial and error (D) Stimulus-response

48. Potential short-term side effects of amphetamines include :

(A) Insomnia (B) Convulsions

(C) Hallucinations (D) All of these

T.B.C.: 16/15/ET—II1 24
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49. Which is not a type of motion ?
(A) Linear (B) Angular
(C) Curvilinear (D) Circular

50. Who is the Secretary General of Indian Olympic Association ?
(A) Randhir Singh (B) K.P. Singh Dev
(C) Rajeev Mehta (D) Abhay Chautala

51. Which term was used for management in early times ?
(A) Supervision (B) Administration
(C) Planning (D) Personnel

52. Financial management prevent:; :
(A) Use of funds (B) Waste of funds
(C) Power (D) Efficiency
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53.

54.

A process of interpersonal relationship through which people’s learning

experience is improved 7

(A) Administration (B) Budgeting

(C) Supervision (D) Friendship

Out of the following, which is not the major objective of sports training ?
(A) To prepare for international competition

(B) To condition the athlete physically and mentally to withstands the high

risk and cope with performance demands of sports
(C) To make the athlete highly skillful technically and tactically
(D) To accelerates growth and development

If independent variable, for example, is new treatment for hypertension, then

the dependent variable might be patient's :

(A) Cardiac output (B) Heart-break

L)

(C) Stroke volume ~ (D) Blood pressure
Which of the following is most democratic method ?
{A) Discussion (B) Lecture

(C) Demonstration (D) Reciprocal
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57.  Recitation does not involves :
(A) Repititions of facts (B) Read
(C) memorized (D) Exploration
58. Basic metabolic rate increase with :
(A) T catabolic activity (B) . cataboiic activity
(C) T anabolic activity (M) | anabolic activity

59.  Which nerve is responsible for carrying the message from different parts of

the body to- brain ?

(A) Efferent (B) Afferent

(C) Vibrant (D) Convergent
60. Treatment through water is called :

(A) Cryotherapy (B) Mud therapy

(C) Diapulse therapy (D) Hydrotherapy
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61. Philosophy of education starts with :
(A) idealism (B) pragamatism
(C) naturalism (D) realism
62. Co-ordination is the major component of :
(A) combat sports (B) team sports
(C) individual sports (D) duel sports
63. The First Asian Games were organised in :
(A) Japan (B) Sri Lanka
(C) India (D) Pakistan
64. The external source which helps in increasing the performance :
(A) Drugs . (B) Water
(6} Ergoge;iic aid - (D) Pineapple
65. The total number of vertebrae in Lumber region of spine of an adult is :
(A) 14 (B) 7

(C) 5 (D) 12
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66. Theory of recapitulation is propounded by whome ?
(A) Von Schiller _ (B) Herbert Spencer
(C) Stanley Hall (D) Carl Gross

67. From the view point of command, whether the managerial authority should

be centralized or de-centralized must be based on the :
(A) kind of personal working in the organisation
(B) friends in other institution/organizations of the like nature
(C) consenfses of the employee and officials
(D) nature of assigned work and interest of the institution
68. At the deepest, the foundation of any organisation rests as a few :
(A) Individuals with good crédentials
(B) Values that are known to everyone
{C) Competent leaders

(D) Objectives that are to be achieved
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66. Yw@Ew % fagr #1 wgfa s g =t W 2

(A) afq feer (B) ®dd ¥

(C) ==& ¥« (D) FE TH
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(A) §ea H fdg o & @ s €

(B) T® WMed ® FE w A 4R

(C) wifas wd Fypadl 4 geufa

(D) fea M v w1 wPpla @ T F= e

68. fwdt wea =t @ 39 @@ w it wwEt € o

(A) =afaema g

(B) §eg W Bt &t s # @

(C) 4%™

(D) W N WE FA T
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69. The degree of which performance on a test corresponds to the abilities or traits

that the tests purports to measure is called :
(A) construct validity (B) content validity
(C) criterion validity (D) face validity
70. In principle and practice, all chest measurements should be taken at the :
(A) beginning of normal expiration
(B) time of normal expiration
(C) end of .normal expiration
(D) end of forced expiration
71. In its newest concept, supervision should serve as a/an :
(A) disciplining baton
(B) fault finding device
(C) arm twisting technique

(D) measure of guidance
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69. TRIHV % W& W W ITHI ArEal X N & HEY oA & W wdEm wa

%
(A) o Jum (B) fawaasg dua
(C) wEE Awa (D) &9 Jua

70. s 9w IEW F R W i wd F a4 9l
(A) H=1 HiE 2E7 ® 9y H
(B) W=y Hfg drzd §
(C) ®Mrg §ig Jigh & o §
D) weEE e G # o A
71. F9H TEAaR @R § gdasm wwa S s =i e
(A) & & ®9 H
(B) Tefadl % %@ I T & ®9 °
(C) &9 gHA *I ad+is §

(D) wriesfa =t fafial
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72. The achillies tendon is the tapering part of :
(A) gluteus maximum (B) quardiceps
(C) gastrocnemius (D) hamstring
73. Out of the following which is not a part of Micro-cycle training ?
(A) It may be for one week
(B) Training is not constant
(C) Variations of exercise are included
(D) It is formulated for the period of 3-6 weeks

74. The range of possible magnitude of correlation between two variables extends

from :
(A) 0 to 1.0 (B) 0.1 to 1.0
(C) -1 to +1 LMY =14

75. Crombach Alfa is the measure of :

(A} Relationship (B) Internal consistency

(C) Concurrent validity (D) All of these
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(A) vefeam AiFHy

(C) Twraas

(B) safEa

(D) TwfEm
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(A) UF waw # fag
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